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Function Notation
f(x) =9 —4x
a. f(=3)=9-4[-1) | b. F(x) = 10 ¢ f(W)=G-d(n) |dflx+2)=a-4(x+
= Q412 /0= 9-<x = q-Yh = q-yx-§
;(-'ﬂ\ = =2 /=-"I)( -‘;(xﬂ) = | -4x
-L =x




WINDOW Mr. Bean enters a 7 day Pokémon competition. The function below models Mr. Bean’s total cards

Amin=8
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How many cards did e start with! SO Cards =8
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Mr. Brust has a one day layover in Vegas. He decides to gamble continuously for that
time period. The following function represents his total money over that day where 7 is
measured in hours. _R=9
B(t) = —0.02¢* + 19t + 180 £ =\ours

W= 02R " Y+198+180
/'?,What does B(12) mean? Find it. B(I'L)Z ~b. ¢

How wmuch money does we howe ot hour 127 He owes “(.72
What does B(t) = 80 mean? Estimate it.
At what hour will he awe 3807 17186 houc
ﬂVhat does the y-intercept mean? What does the x-intercept mean?
How much mmmey did he Shaet wih’? when will We lose gl his W“*"“"‘/‘?
What is the most money that Mr. Brust had?
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